

$$\left. \begin{aligned} a_1 &= f_n \\ a_f &= a_1 + r d = y \end{aligned} \right\} \Rightarrow r d = y \Rightarrow d = y/r \Rightarrow a_n = Vn + r y \Rightarrow r_0 \lambda = Vn + r y \Rightarrow 1V \omega = Vn \Rightarrow \boxed{n = r \omega}$$

$$100 \ll Vn + r \ll 999 \Rightarrow 9V \ll Vn \ll 999 \Rightarrow 9V = \frac{9V}{V} \ll n \ll \frac{999}{V} = 144, \dots \Rightarrow 1 \ll n \ll 144 \Rightarrow \frac{144 - 1}{1} + 1 = \boxed{144}$$

$$\left. \begin{aligned} n=1 &\Rightarrow a_r + a_p + a_f = \{ a_1 + r d = -r(1) + 1 \} \\ n=2 &\Rightarrow a_r + a_p + a_f = \{ a_1 + r d = -r(2) + 1 \} \end{aligned} \right\} \Rightarrow -r d = r \Rightarrow d = -r \Rightarrow a_1 + r(-r) = r \Rightarrow a_1 = 1 \Rightarrow a_r = r \Rightarrow$$

$$a_{1V} + a_\lambda = r a_1 + r y d = r(r) + r y(-r) = \boxed{-r^2 y}$$

$$\left. \begin{aligned} a_{1r} - a_\lambda &= \omega d \\ a_\lambda - a_r &= \omega d \end{aligned} \right\} \Rightarrow r^{2q} - r - r^{q+1} = r^{q+1} - r^{q+1} + 1 \Rightarrow r^{2q} + r^{q+1}(-r) - r = 0 \Rightarrow (r^q - r)(r^q + 1) = 0 \Rightarrow \begin{cases} r^q = 1 \text{ or } \\ r^q = r \Rightarrow r = r \end{cases}$$

$$r^2 - 1 + r^{q+1} + r^{q+1} - r = r - 1 + 1 + 1/r - r = \boxed{1/r}$$

$$a_{1r} - a_{10} = \omega d \Rightarrow a_1 + r d - (a_1 + r d) = \omega d \Rightarrow r d = \omega d \Rightarrow d = r \omega \Rightarrow a_1 + a_{1r} = r \omega \Rightarrow r a_1 + r_0 d = r \omega \Rightarrow r a_1 + r_0 (r \omega) = r \omega \Rightarrow$$

$$r a_1 = r \omega \Rightarrow a_1 = \omega \Rightarrow a_{1r} = -r \omega + r_0 (r \omega) = \boxed{+r^2 \omega}$$

$$\frac{S_\omega}{S_{1-r}} = \frac{1}{r} \Rightarrow \frac{\frac{\omega}{r} (r a_1 + (\omega - 1) d)}{\frac{1}{r} (r a_1 + (\omega - 1) d) - \frac{\omega}{r} (r a_1 + (\omega - 1) d)} = \frac{1}{r} \Rightarrow \frac{\omega a_1 + \omega d}{\omega a_1 + \omega d - \omega a_1 - \omega d} = \frac{1}{r} \Rightarrow 1 \omega a_1 + r_0 d = \omega a_1 + r \omega d$$

$$\Rightarrow \omega a_1 = \omega d \Rightarrow d = r a_1 \Rightarrow \frac{a_r}{a_1} = \frac{a_1 + d}{a_1} = \frac{a_1 + r a_1}{a_1} = \frac{r a_1}{a_1} = \boxed{r}$$

$$t_n = t_{n-r} + 1 \omega \Rightarrow t_n - t_{n-r} = 1 \omega \Rightarrow r d = 1 \omega \Rightarrow d = \omega$$

$$\frac{t_q^r - t_\omega^r}{t_q - t_\omega} = \frac{\frac{t_q}{r} - \frac{t_\omega}{r}}{(t_q - t_\omega) \frac{r}{r}} = \frac{r}{r} = \boxed{1} \quad \text{nd} = 1(\omega) = r$$

$$t_q + t_\omega = t_v + t_v = 2t_v$$

$$\frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1r + 1} = d \Rightarrow \frac{r + \sqrt{r} - r + r\sqrt{r}}{1r} = d \Rightarrow \frac{r\sqrt{r}}{1r} = r d \Rightarrow d = \boxed{\sqrt{r}}$$

$$a_{n+1} = a_1 + (n-1)d = 11, \quad d = \frac{r(r-1)}{(r-1)+1} = \frac{1\omega}{r-1} \Rightarrow r + n \left(\frac{1\omega}{r-1} \right) = 11 \Rightarrow \frac{1\omega n}{r-1} = 9 \Rightarrow 1\omega n = 9(r-1) \Rightarrow$$

$$r n = 9 \Rightarrow \boxed{n = 9}$$

$$a_n + a_{n+r} = a_r + a_{1r} \Rightarrow r a_1 + (n-1 + n+r) d = r a_1 + 1 \omega d \Rightarrow r n + r = 1 \omega \Rightarrow n = \omega$$

$$a_n = r \frac{a_n}{r} \Rightarrow a_n = r a_r \Rightarrow a_1 + r d = r a_1 + r(r d) \Rightarrow d = -a_1$$

$$a'_n = a_1 + (n-1)d \Rightarrow a_1 + (n-1)(-a_1) = 0 \Rightarrow a_1(r-n) = 0 \Rightarrow r-n=0 \Rightarrow \boxed{n=r}$$